(—
F, (t) = —kx(t) X ——0 X
dv, (t)  d?x(t
ma, () =) - a,®) =22 = oy
w=,—
m
X(t) = Acos(wt + ) cos rad
simple harmonic oscillation
v (t) = d’é(tt) _ _wAsn(ot + )
A m amplitude
o rad
o= K rad/s Tzz—ﬁ s period
m )]
f = Hz | frequency
5
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sin  cos rad
sini cos 10 sin0.1 snrz
o{ cos(2x + 3)} d?{cos(2x + 3)} d{sin(2x+3)} d?{sin(2x+ 3)}
dx dx? dx dx?
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snl= Ccos10 = sno0.l1= snrz=
d{ cos(2x + 3)} d?{cos(2x + 3)}
dx dx?
d{ sin(2x + 3)} d?{sin(2x+23)}
dx dx?
a al 6(t)= al A=
a3 o= a3 T= a3 f=
b b1l x%m] b-2 X[{]
OJF:::::}:::::,VI[S] OJF:::::I:::::'k
y
a Fylt)= L@
X 5 X
b ax(t)=
c
X(t) = Acos( t+a) m
c1
c-2 V()=
d
Acosa = Asing =
d-1
A= a=
d-2 x(t) =
e w= T:
c X
T
.......... A
""""" gt




